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POLITICAL SCIENCE

Full Marks : 100
Pass Marks : 33
Time : Three hours
All the questions are compulsory.

The figures in the right margin indicate full marks for the questions.

For Question Nos. 1 to 8, select the most appropriate one from the given

alternatives A,B,C and D and rewrite the same.

1. - Thearchitect of India’s nation building was — 1
(A) Jawaharlal Nehru (B) Sardar Vallabhbhai Patel
(C) Mahatma Gandhi . (D) Dr.B.R. Ambedkar

2. Inwhichyearwas Sikkim integrated with India ? 1
A) 1975 (B) 1976
(C.). 1977. o (D) 1978
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3.

The full form of NEFA is —

(A) North-East Frontline Agency
(B) North-East Fronticr Agreement
(C) North-East Frontier Agency

(D) North-East Foreign Agreement

ber of North Atlantic Treaty
1

Which one of the following countrics is not a mem

Organization ?

(A) UsA (B) UK

(C) France (D) India

Identify the person who introduced the policy of reservation for OBCs in
Bihar? |
(A) KakaKalelkar (B) Karpoori Thakur

(C) BPMandal " (D) Laloo Prashad

Which one of the following is Known as Second World ? 1
(A) Socialist Bloc (B) Capitalist Bloc

(C) Developing countries (D) Under-developed countries

The main aim of the South Asian Free Trade Agreement is — | 1
(A) Increasing Trade Tariffs (B) Lowering Trade Tariffs

(C) VisaFree Trade (D) Free flow of goods
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10.

11.

12.

13.

14.

15.

16.
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Identify which of'the following statements is true about Globalization?
(A) Itis one dimensional concept

(B) Itistwo-dimensional concept

(C) Itis three-dimensional concept

(D) Itis multi-dimensional concept

Question Nos. 9 to 16 are very short answer type (VSA) questions, each of

these questions may be answered in a word or a group of words or a sentence

only.

Who was Potti Sriramulu?

In which year was the constitution of India adopted ?

What is the full form of PEPSU?

Who was the first woman minister of Manipur?

What is Indira Sawhney case?

Which factors restrained the initiatives of the people of Soviet Union?
Name the island which was given by India to Sri Lanka in 1974.

Why was the World Social Forum established?

3
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Question Nos. 17 to 26 are Short Answer Type-11 (SA-11) Questions. Answer

these questions in about 15 to 25 words each.

17. Identify two factors that led to the partition of India in 1947. 2
18. Analyse two reasons for long lasting of congress coalition. .
2

19. Mention two main causes for the risc of regional parties in India.

20. “Seven Years Devastation (1819-1826) is a tragic period in Manipur”. Elucidate.
2

21. Analyse two main causes of Second Nupi Lan 1939. 2

22. How was Mizo Accord signed ?

23. “Heavy industry is synonymous with development”. J ustify the statement by giving

two points. 2
24. Examine two main reasons for the appointment of Mandal Commission. 2
25. Identify two main reforms introduced by Gorbachev. 2
26. Wr.ite two limitations of SAARC. : 2

Question Nos. 27 to 34 are Short Answer Type-I (SA-I) Questions. Answer

these questions in about 30 to 50 words each.

27. How did Manipur integrate with India? 4
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28.

29.

30.

31.

32;

33.

Explain four factors which were responsible for Congress dominance from 1947

to 1967.
Discuss any four main causes of Communalism.
Explain any four functions of NITI Aayog.
Or
Discuss four features of India’s developmental planning.
How far was Soviet economy a role model ? Give four points.

Or

Analyse four main causes for the disintegration of Soviet Union.

Critically assess the prospect of European Union.
Or
Examine critically the rise of Chinese economy.
“Terrorism is one of the dreadful new sources of threat”. Justify.

Or

4

“Disarmament is the only means to save our earth from Third World War”.

Elucidate.
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34.

35.

Draw the logo of World Bank. ‘ ‘ 4

Question Nos. 35 to 38 are Essay-Type Questions. Answer these questions in

about 120 to 150 words each.

Write in detail about UN General Assembly and Security Council, 44+4=8
Or

Write elaborately about Amnesty International and World Bank.

Explain the main causes of Indo-China war 1962. What were the main

consequences of the war. 4+4=8

Or

Discuss India’s stand on Nuclear Non-Proliferation Treaty and Comprehensive

Test Ban Treaty.
37. Assess the prospect of democracy in Bangladesh. 8
Or.
Examine the factors which hamper the normalization of relations between India
and Pakistan.
38. “Non-Traditional Security includes Human Security and Global Security.” Explain.
4+4=8
Or
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Heterogenization™. Discuss.
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“Globalization led to both Cultural Homogenization and Cultural
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